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vy 79437 By¥Ls 5% (i) 75va 75 AL a—7
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0.0 + 0.7 = 2.0 X 2.0 = 0.7

0.7 + 1.0 + 2.0 X 10.0 = 8.5

1.0 + 0.0 = 2.0 X 8.0 = 4
2Aa— 0.7 + 8.5 + 4 = 13.2 13.2 m2
774 IR 1.3 X 1.3 X 4.0 + 1.1 X 1.1 4.0 11. 11.6 m2
% SR 1.0 X 1.0 X 2.0 = 2.0 2.0 m?2
75 oA 1.1 X 1.1 X 8.0 = 9.7 9.7 m?2
75 L iR 0.8 X 0.8 X 20. 0 = 12.8 12.8 m2
PowbHRy b 0.8 X 0.8 X 2.0 + 2.8 X 2.8 .12 9.1 m?2
=t 58.4 m2
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No 1 8.0 20.0 0.3 0.0 1.1 11.
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1.3 X 1.3 X 0.8 X 2.0 = 2.7
1.1 X 1.1 X 0.8 X 2.0 = 1.9
i 2.7 + 1.9 = 4.6
0.9 X 0.9 X .15+ 0.8 X 0.8 X 0.4 = 0.378
0.7 X 0.7 X 15+ 0.6 X 0.6 X 0.4 = 0.218
(03718 + 0.218 ) X 2 = 1.19
HORL 4.6 - 1.19 = 3.45
b S 4.6 - ( 3.4 = 0.9 ) = 0.86
7% AL 4.6 - ( 3.4 = 0.9 ) = 0.86
e
RC—40 0.9 X 0.9 X 2 + 0.7 X 0.7 X 2 = 2.6
0.9 X 0.05 X 4.0 X 2.0 = 0.36
Tl e 0.7 X 0.05 X 4.0 X 2.0 = 0.28
WL 7 ) —§ 0.36  + 0.28 = 0.64
0.9 X 0.9 X 0.05 X 2.0 = 0.08
BLEME=a 7 U — b 0.7 X 0.7 X 0.05 X 2.0 = 0.05
18-8-20 0.08 + 005 = 0.13
0.8 X 0.4 X 4.0 X 2.0 = 2.56
Tl e 0.6 X 0.4 X 4.0 X 2.0 = 1.92
/INRIREEY) 2.56  + 1.92 = 4.48
0.8 X 0.8 X 0.4 X 2.0 = 0.5
avy Y—h 0.6 X 0.6 X 0.4 X 2.0 = 0.3
18-8-20 0.5 + 0.3 = 0.8
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=i 1.0 1.0 X 0.65 = 0.65 0.6 m3
0.6 0.6 X 0.1 + 0.5 0.5 0.3 0.11
PO L 0.6 0.11 = 0.49 0.4 m3
TS E 0.6 (04 =+ 0.9 ) 0.16 0.1 m3
RSy 0.6 ( 0.4 + 0.9 ) 0.16 0.1 m3
e
RC-40 0.6 0.6 = 0.36 0.3 m3
Hp
/INIIREIEY) 0.5 0.3 X 40 = 0.6 0.6 m2
ary7J—r
18-8-20 0.5 0.5 X 0.3 = 0.075 0.07 m3
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bR 0.6 (0.4 = 09 ) = 0.16 0.1 m3
TRy 0.6 ( 04 = 09 ) = 0.16 0.1 m3
e
RC-40 0.6 0.6 = 0.36 0.3 m3
T
/NI IE Y 0.5 0.3 X 4.0 = 0.6 0.6 m2
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0.7 X 0.7 X 015 + 06 X 0.6 X 045 = 0.24
HORL 6.8 - 0.24 X 80 = 4.89 4.8 m3
RNt 6.8 - ( 48 = 09 ) = 1.4 1.4 m3
e 6.8 - ( 4.8 = 0.9 ) = 1.4 1.4 m3
WA
RC-40 0.7 X 0.1 X 80 = 0.56 0.5 m2
T
WLE#H= 7 ) — | 0.7 X 005 X 40 X 80 = 1.12 1.1 m2
WLz 7 ) — ]
18-8-20 0.7 X 0.7 X 005 X 80 = 0.2 0.2 m3
T
/NI ) 0.6 X 0.45 X 4.0 X 80 = 8.64 8.6 m2
ay7 V—h
18-8-20 0.6 X 0.6 X 045 X 80 = 1.3 1.3 m3
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o S 5.1 (4.4 = 0.9 ) 0.21 .2 m3
R 5.1 (4.4 = 09 ) 0.21 .2 m3
e
RC-40 0.4 0.4 X 20,0 = 3.2 .2 m2
Hl P
NS EY) 0.3 0.2 X 4 X 20.0 4.8 .8 m2
PR
d 150 0.2 20.0 = 4 0 m
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18-8-20 0.3 0.3 X 0.2 X 20.0 0. 36 .3 m3
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